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Change 1
	Function name
	function f_TC_7_1_3_3a_EUTRA()

	Reason for change
	In current implementation of TC step 3 NW is expected to transmit 344 bits of data as per below calculation. 

38 PDCP SDU + 2B PDCP H + 2B RLC Header +1 B MAC SH  = 43 B= 344 bits
But 344 bits is not alligned with Specificaition 36.213 Table 7.1.7.2.1-1, as N-prb required for this transmission is 10, while maximum supported for CATM1 is 6.

So reduced the RLC SDU size from 40 to 38 in step 3 of Table  7.1.3.3a.3.2-1: Main behavior.

	Summary of change
	Changed RLC SDU Size from 40 bytes to 38 bytes at step 3 of Table 7.1.3.3a.3.2-1.

	TTCN module
	LTE_A_R12\7_1\ MAC_Rel12.ttcn

	MCC160 Comment
	Accepted and implemented as per prose CR R5-195829. used crs_PDCP_SDU_L36.


Before change
  function f_TC_7_1_3_3a_EUTRA() runs on EUTRA_PTC

  { /* MAC PDU header handling / UE with limited TB size */

    var octetstring v_EncodedRlcPdu1;

    var octetstring v_EncodedRlcPdu2;

    var octetstring v_EncodedRlcPdu3;

    var octetstring v_EncodedRlcPdu4;

    var octetstring v_EncodedRlcPdu5;

    ///////////////////////////////////////////////////////////////////////////////////

    //      PREAMBLE

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_Init(c1);

    f_EUTRA_CellInfo_SetSysInfo_T300(eutra_Cell1, ms1500);

    f_EUTRA_CellInfo_SetPreambleGroup(eutra_Cell1, cs_PreamblesGroupAConfig(b208));

    f_EUTRA_CellInfo_SetNumberOfRAPreamble(eutra_Cell1, n64);

    f_EUTRA_CellConfig_Def(eutra_Cell1);

    f_EUTRA_Preamble(eutra_Cell1,STATE2A_TESTLOOP_ModeA);

    f_EUTRA_AS_CipheringAlgorithm_Set(eea0); // set null AS ciphering algorithm

    // creates cell and performs registration

    f_EUTRA_LoopBackActivation_State4_Def_DisableBSR_PHR(eutra_Cell1, cs_UE_TestLoopModeA_LB_Setup_1DRB(0,tsc_DRB1));

    // step to configure SS RLC/PDCP and MAC in No header manipulation mode on SS Side for DRB

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB1,cs_MAC_TestMode_NoHeaderManipulationDL_UL);

    ///////////////////////////////////////////////////////////////////////////////////

    //      Test Body

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_TestBody_Set(true, layer2);

    // preconfig SS for UL Grant of 24 bits

    f_EUTRA_StartExplicitULGrantTransmissionOnSR_Reception(eutra_Cell1,

                                                           cs_TimingInfo_Now,

                                                           1, 1); /* Nprb = 1, Itbs = 1          Table 7.1.7.2.1-1 of 36.213

                                                                     Imcs = 1 -> Itbs = 1   MCS index of table 8.6.1-1 of 36.213 */

    //@siclog "Step 1" siclog@

    // 38B PDCP SDU + 2B PDCP H + 2B RLC Header +2B MAC SH+ 1B Pad SH + 4B Pad = 49 B= 392 bits

    v_EncodedRlcPdu1 := f_RLC_AMD_1PDU_Encvalue(0, tsc_Poll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_L38))));

    DRB.send(cas_DRB_COMMOM_REQ_MAC_PDU(eutra_Cell1,

                                        tsc_RbId_DRB1,

                                        cs_TimingInfo_Now,

                                        cs_MAC_PDUList_1(cs_MAC_PDU_1SubHeader_Padding_RLCPDU_Short(crs_Padding_4Bytes,

                                                                                                    tsc_LchId_DRB1, v_EncodedRlcPdu1))));

    //@siclog "Step 2" siclog@

    //Check: Does the UE transmit a MAC PDU containing an RLC STATUS PDU acknowledging the reception of the AMD PDU in step 1?

    f_RLC_Status_PDU_Rx(tsc_LchId_DRB1,1);

    //@siclog "Step 3" siclog@

    // 38 PDCP SDU + 2B PDCP H + 2B RLC Header +1 B MAC SH  = 43 B= 344 bits

    // MAC PDU with no padding

    v_EncodedRlcPdu1 := f_RLC_AMD_1PDU_Encvalue(1, tsc_Poll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN1, crs_PDCP_SDU_L38 ))));

    DRB.send(cas_DRB_COMMOM_REQ_MAC_PDU(eutra_Cell1,

                                        tsc_RbId_DRB1,

                                        cs_TimingInfo_Now,

                                        cs_MAC_PDUList_1(cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1, v_EncodedRlcPdu1))));

    //@siclog "Step 4" siclog@

    //Check: Does the UE transmit a MAC PDU containing an RLC STATUS PDU acknowledging the reception of the AMD PDU in step 3?

    f_RLC_Status_PDU_Rx(tsc_LchId_DRB1, 2);

    //@siclog "Step 5" siclog@

    // 1 MAC PDU = 5 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 4*2 + 1=9 bytes.

    // 5 MAC SDU's of 20 => RLC SDU= 18, PDCP SDU =16.

    // Total MAC PDU = 9 + 5*20 = 109 B = 872.

    v_EncodedRlcPdu1 := f_RLC_AMD_1PDU_Encvalue(2, tsc_NoPoll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN2, crs_PDCP_SDU_16B1))));

    v_EncodedRlcPdu2 := f_RLC_AMD_1PDU_Encvalue(3, tsc_NoPoll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN3, crs_PDCP_SDU_16B2))));

    v_EncodedRlcPdu3 := f_RLC_AMD_1PDU_Encvalue(4, tsc_NoPoll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN4, crs_PDCP_SDU_16B3))));

    v_EncodedRlcPdu4 := f_RLC_AMD_1PDU_Encvalue(5, tsc_NoPoll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN5, crs_PDCP_SDU_16B4))));

    v_EncodedRlcPdu5 := f_RLC_AMD_1PDU_Encvalue(6, tsc_Poll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN6, crs_PDCP_SDU_16B5))));

    DRB.send(cas_DRB_COMMOM_REQ_MAC_PDU(eutra_Cell1,

                                        tsc_RbId_DRB1,

                                        cs_TimingInfo_Now,

                                        cs_MAC_PDUList_1(cs_MAC_PDU_NoPadding_RLCPDU_Step5(tsc_LchId_DRB1,

                                                                                           v_EncodedRlcPdu1,

                                                                                           v_EncodedRlcPdu2,

                                                                                           v_EncodedRlcPdu3,

                                                                                           v_EncodedRlcPdu4,

                                                                                           v_EncodedRlcPdu5))));

    //@siclog "Step 6" siclog@

    //Check: Does the UE transmit a MAC PDU containing an RLC STATUS PDU acknowledging the reception of the AMD PDUs in step 5?

    f_RLC_Status_PDU_Rx(tsc_LchId_DRB1, 7);

    f_EUTRA_TestBody_Set(false);

    ///////////////////////////////////////////////////////////////////////////////////

    //      Post Amble

    //////////////////////////////////////////////////////////////////////////////////

    f_DelayForDLPDU_Tx();

    // step to configure SS RLC/PDCP and MAC in No header manipulation mode on SS Side for DRB

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB1,cs_MAC_TestMode_NormalMode);

    // configure SS in normal grant transmission

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    // Release RRC Connection and Switch off

    f_EUTRA_Postamble(eutra_Cell1, E3_TESTMODE);

  }
After change
  function f_TC_7_1_3_3a_EUTRA() runs on EUTRA_PTC

  { /* MAC PDU header handling / UE with limited TB size */

    var octetstring v_EncodedRlcPdu1;

    var octetstring v_EncodedRlcPdu2;

    var octetstring v_EncodedRlcPdu3;

    var octetstring v_EncodedRlcPdu4;

    var octetstring v_EncodedRlcPdu5;

    ///////////////////////////////////////////////////////////////////////////////////

    //      PREAMBLE

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_Init(c1);

    f_EUTRA_CellInfo_SetSysInfo_T300(eutra_Cell1, ms1500);

    f_EUTRA_CellInfo_SetPreambleGroup(eutra_Cell1, cs_PreamblesGroupAConfig(b208));

    f_EUTRA_CellInfo_SetNumberOfRAPreamble(eutra_Cell1, n64);

    f_EUTRA_CellConfig_Def(eutra_Cell1);

    f_EUTRA_Preamble(eutra_Cell1,STATE2A_TESTLOOP_ModeA);

    f_EUTRA_AS_CipheringAlgorithm_Set(eea0); // set null AS ciphering algorithm

    // creates cell and performs registration

    f_EUTRA_LoopBackActivation_State4_Def_DisableBSR_PHR(eutra_Cell1, cs_UE_TestLoopModeA_LB_Setup_1DRB(0,tsc_DRB1));

    // step to configure SS RLC/PDCP and MAC in No header manipulation mode on SS Side for DRB

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB1,cs_MAC_TestMode_NoHeaderManipulationDL_UL);

    ///////////////////////////////////////////////////////////////////////////////////

    //      Test Body

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_TestBody_Set(true, layer2);

    // preconfig SS for UL Grant of 24 bits

    f_EUTRA_StartExplicitULGrantTransmissionOnSR_Reception(eutra_Cell1,

                                                           cs_TimingInfo_Now,

                                                           1, 1); /* Nprb = 1, Itbs = 1          Table 7.1.7.2.1-1 of 36.213

                                                                     Imcs = 1 -> Itbs = 1   MCS index of table 8.6.1-1 of 36.213 */

    //@siclog "Step 1" siclog@

    // 38B PDCP SDU + 2B PDCP H + 2B RLC Header +2B MAC SH+ 1B Pad SH + 4B Pad = 49 B= 392 bits

    v_EncodedRlcPdu1 := f_RLC_AMD_1PDU_Encvalue(0, tsc_Poll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_L38))));

    DRB.send(cas_DRB_COMMOM_REQ_MAC_PDU(eutra_Cell1,

                                        tsc_RbId_DRB1,

                                        cs_TimingInfo_Now,

                                        cs_MAC_PDUList_1(cs_MAC_PDU_1SubHeader_Padding_RLCPDU_Short(crs_Padding_4Bytes,

                                                                                                    tsc_LchId_DRB1, v_EncodedRlcPdu1))));

    //@siclog "Step 2" siclog@

    //Check: Does the UE transmit a MAC PDU containing an RLC STATUS PDU acknowledging the reception of the AMD PDU in step 1?

    f_RLC_Status_PDU_Rx(tsc_LchId_DRB1,1);

    //@siclog "Step 3" siclog@

    // 38 PDCP SDU + 2B PDCP H + 2B RLC Header +1 B MAC SH  = 43 B= 344 bits

    // MAC PDU with no padding

    v_EncodedRlcPdu1 := f_RLC_AMD_1PDU_Encvalue(1, tsc_Poll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN1, crs_PDCP_SDU_L36_1 ))));

    DRB.send(cas_DRB_COMMOM_REQ_MAC_PDU(eutra_Cell1,

                                        tsc_RbId_DRB1,

                                        cs_TimingInfo_Now,

                                        cs_MAC_PDUList_1(cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB1, v_EncodedRlcPdu1))));

    //@siclog "Step 4" siclog@

    //Check: Does the UE transmit a MAC PDU containing an RLC STATUS PDU acknowledging the reception of the AMD PDU in step 3?

    f_RLC_Status_PDU_Rx(tsc_LchId_DRB1, 2);

    //@siclog "Step 5" siclog@

    // 1 MAC PDU = 5 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 4*2 + 1=9 bytes.

    // 5 MAC SDU's of 20 => RLC SDU= 18, PDCP SDU =16.

    // Total MAC PDU = 9 + 5*20 = 109 B = 872.

    v_EncodedRlcPdu1 := f_RLC_AMD_1PDU_Encvalue(2, tsc_NoPoll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN2, crs_PDCP_SDU_16B1))));

    v_EncodedRlcPdu2 := f_RLC_AMD_1PDU_Encvalue(3, tsc_NoPoll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN3, crs_PDCP_SDU_16B2))));

    v_EncodedRlcPdu3 := f_RLC_AMD_1PDU_Encvalue(4, tsc_NoPoll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN4, crs_PDCP_SDU_16B3))));

    v_EncodedRlcPdu4 := f_RLC_AMD_1PDU_Encvalue(5, tsc_NoPoll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN5, crs_PDCP_SDU_16B4))));

    v_EncodedRlcPdu5 := f_RLC_AMD_1PDU_Encvalue(6, tsc_Poll, f_PDCP_PDU_Encvalue(cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN6, crs_PDCP_SDU_16B5))));

    DRB.send(cas_DRB_COMMOM_REQ_MAC_PDU(eutra_Cell1,

                                        tsc_RbId_DRB1,

                                        cs_TimingInfo_Now,

                                        cs_MAC_PDUList_1(cs_MAC_PDU_NoPadding_RLCPDU_Step5(tsc_LchId_DRB1,

                                                                                           v_EncodedRlcPdu1,

                                                                                           v_EncodedRlcPdu2,

                                                                                           v_EncodedRlcPdu3,

                                                                                           v_EncodedRlcPdu4,

                                                                                           v_EncodedRlcPdu5))));

    //@siclog "Step 6" siclog@

    //Check: Does the UE transmit a MAC PDU containing an RLC STATUS PDU acknowledging the reception of the AMD PDUs in step 5?

    f_RLC_Status_PDU_Rx(tsc_LchId_DRB1, 7);

    f_EUTRA_TestBody_Set(false);

    ///////////////////////////////////////////////////////////////////////////////////

    //      Post Amble

    //////////////////////////////////////////////////////////////////////////////////

    f_DelayForDLPDU_Tx();

    // step to configure SS RLC/PDCP and MAC in No header manipulation mode on SS Side for DRB

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB1,cs_MAC_TestMode_NormalMode);

    // configure SS in normal grant transmission

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    // Release RRC Connection and Switch off

    f_EUTRA_Postamble(eutra_Cell1, E3_TESTMODE);

  }
